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9000 11099 612 352| 202| 146 116 97 |y=97.31x°-0.7984 498
2000 16999 478| 277|161 117 93 78 |y=78.17x"-0.7864 525
17,000kg 238| am 83 61 49 41 |y=41.44x1-0.7592 656
X 10960. 1 CO2
10 10
CO2

10




(1)
(2
a.
kg
1,999 1
2000kg |2
1,099 1
2000 4999[2 4
5000 8999]5.5 75
9,000 11,999]10 11 1
2000  6,999g]13 25 2
T7,000kg
b.
||
/m3 m3
/

11




12



CO2

co,

(-co,

t
| gl
| QN
! o2l |
| o ;
! x|
Loy v,
3
Q
of
g
/ _/

co,

o]

co,

CO:

co,

co,

13



g- /kg
10kg 174.7 109.1 123.1 276.8 122.3 140.6 215.4 122.6 220.8
11kg 174.7 109.1 123.1 276.8 122.3 140.6 215.4 122.6 220.8
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174.7 109.1 123.1 276.8 122.3 140.6 215.4 122.6 220.8
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11 4 0. 830 0. 830 0. 038 0. 021
4.1 10 0.174 0. 830 0. 038 0. 021
10.1 0.174 0.174 0. 038 0. 021
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